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J| 27,922
< 5,585
[ia 103,436
03 RIAHAZ 22+ 131,943 128,599 3,344
OSSEHLSIAMY RIIH AR QI2H| 55,845
R 51,0003 = 3¥  365¢ 55,845
Jl| 27,922
< 5,585
s 22,338
OSEAHLSTAY RIIAH LA olAH| (2HIF
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-wE 22| 120,000& = 3H » 123 4,320
-HE SOl 600,000& = 3Y « 23] 3,600
JHHERS 505,000& = 3% = 62l 9,090
) =) 510,000& = 3% = 12& 18,360
“A”HRI 2R
5633 * 38 x 128 x 15AI2 5,165
-AlRESsE 51,0003 = 3H » 18¢ 2,754
S 76,500& * 3% =« 128 2,754
-2 & W =Hl 100,000& * 3YH 300
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Jl 25,150
S 5,030
[a 20,120
OZF2CIANE 29I 24,972,000 24,972
Il 12,486
S 2,498
= 9,988
OZLSHAAMNY 29| 11,000,000 11,000
Jl 5,500
S 1,100
[a 4,400
OFLL22AdANE 24l 23,000,000& 23,000
Jl 11,500
& 2,300
= 9,200
Ot A A LS ALY 2| 17,000,000& 17,000
Jl 8,500
S 1,700
[a 6,800
OSgdZSTAME A5 W=Hl 10,000,000 10,000
Il 5,000
= 1,000
s 4,000
OOtETIEA M T 2IAtE 23
10,000,000& 10,000
Il 5,000
= 1,000
s 4,000
OXSGAMESS MEAMY 2ZH 9,000,000 9,000
9] 4,500
S 900
[a 3,600
03 A2 25,000 4,000 21,000
OOIET &AGIS QrAS TR ROJls o3
5,000,000& 5,000
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OMEZz)H 29 23 200,000 200
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12 JIEtE2 A= 55,000 52,700 2,300
OALE2EEM S 2AISS 5,000,000& 5,000
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J| 15,000
== 3,000
= 12,000
OSF0enNs 2AISTE 10,000, 000& 10,000
Jl 5,000
o= 1,000
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Oste|xm=z )3 29 A= 7,200,000 7,200
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[ 280
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A== 50,000& = 9% = 12& 5,400
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09 HALAHIEA S 700 0 700
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N2 A 5,565,063 5,247,679 317,384
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